| enanvymo:

T A — a B - -
B R ¢ . S ————————————— o B e e e e S
e N s ———

N JEM:‘“J_MA_

. AlATHIES

MADHMA - ECLATASTASEIE  Wizds

. &Jr_CL‘

-

. 3-6 A-or S-y

—A#M;Z_I r :Z-______—__ﬁ__

_ tedSs Zos

__ E{D\)

by

B&Eﬁ)?jumal 760(.- RULVLITE QNov j\\u;(omsj ! | t v ;Aa{zo(:z\'d_"é}flj —

(:_umumé‘-.rno u__. WU&QJ 4 LLLL!&D?‘X?{LL&M‘(IOQL@_“ ,

- (k) 58’4.31]1 xbumbséu;rmummesnou 84)30%1;&1_161_2@&103\.(30#& I
. __w.t_«‘afopﬂ u'r().o\u_ul d;pd__ S S

s o6

By Sotwxise(Litfh)/tw=8o Litfh 4 28k
_ f8enl Al %32;8.ssoj_;.+_{u 88u>ln

C} ,,,ZQUO&,l,ﬁd n ‘,\,QOQ,,,?;/@ Tou U‘cfo'u Nov w ulof(zoe& L 60v andO B

L{b 5U\§ K_H\lﬂuaf{_b‘by A LAY O(O}.nh uQ _6u_1r1 r]r(ql(ow UETo(! _dxﬂoj.o_éj Ko

D Pob \ﬁbiu;& . T_g | O/oiigm&u{j w! 10 % aapaéﬁzpf el ano SIS 7. S—
Al y4utal € llLbuiMl%ﬂDﬁQﬁiéﬁ ﬁ@ntf;‘mm nEttl un

B 4,111

(o Q=116 x NIxAS => (4= 116X 10X A8 =3 AD = 10%

. dLMQﬁ%QM gAQz&éfﬂ_amQ bﬁczgéfm;s‘as(mcp_y
B 1o TN - u()fr_tmpnhmu_l b vtgn

B

___A@LQQ&%EIO :Q&é -B=s Gg{é = 0806




